North Birmingham College - numeracy


The area of a Trapezium

Think: Take the average of the sides of a trapezium and you have a rectangle
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A trapezium always has two parallel sides of unequal length. 
To work out the area, you just 

· Add the lengths of the two parallel sides together to get the total

· Divide the total by 2 to get the 'average' length of the sides

· Multiply this average length by the height

· Note: The height must be measured at right angles to the parallel sides

You will see this written in Maths books as follows…


[image: image2.wmf]h

b

a

A

´

+

=

2

)

(


(the bracket means 'add first, then divide by 2'). For the example above, the numbers look like this…
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Questions
1. 
Find the areas of the trapeziums shown overleaf. Note that the drawings are NOT to scale in this worksheet. Use the numbers on the diagrams.
2.
Can you explain why - with a sketch say - the trick of averaging the parallel sides works? Hint: try a trapezium like shape B.

Trapeziums to calculate the area of


Shape C





Side b: 70 cm





Shape B





Height: 10 cm





Side a: 15 cm





Side b: 12 cm





Shape A





Side b: 6.2 cm





Side a: 9.7 cm





Height: 5.3 cm





Height: 50 cm





Side a: 100 cm
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